Cuws

INSTALLATION MANUAL

Level of Difficulty
Easy

Parts List*
1 Underbody tool box
2 | Key

*Hardware not included. You must purchase
your own hardware to install this tool box.

Torque Specifications*

M6 bolt 3 ft-Ibs.
M8 bolt 7 ft-Ibs.
M10 bolt 16 ft-Ibs.
M12 bolt 28 ft-Ibs.
1/4" bolt 3 ft-Ibs.
5/16" bolt 7 ft-Ibs.
3/8" bolt 16 ft-Ibs.
7/16" bolt 20 ft-Ibs.
1/2" bolt 28 ft-Ibs.

*Above specifications are general guidelines.
If purchasing hardware use the torque
specifications provided with that hardware.

Maintenance

For polished, gloss and other smooth
finishes, polish may be used to clear
small scratches and scuffs on the finish.

Mild automotive detergent may be used to
clean the product. Do not use dish detergent,
abrasive cleaners, abrasive pads, wire
brushes or other similar products that

may damage the finish.

Installation

This tool box may be mounted on various
truck types and chassis styles. Contact your
local truck up-fitter or equipment dealer for
installation and / or mounting brackets.

Mounting brackets should always be equal
to or thicker than 1/4" steel. The underside
of the tool box must be supported.

UWSTA.COM - NEED ASSISTANCE? - 877.287.8634 + RA « PAGE 1

UNDERBODY
TOOL BOX

A DANGER

Danger of explosion. Do not use this product for storing or transporting flammables,
explosives, hazardous materials or hazardous waste, such as containers of gasoline,
solvents, gun powder, dynamite, propane tanks, acetylene tanks and cutting torches.

Never exceed the vehicle manufacturer's recommended capacity.

Before drilling into your truck bed, check under your vehicle to ensure the drill location

does not puncture, cut or obstruct any brake or fuel fluid lines, electrical wires, fuel tanks, etc.
Precaution must be taken that all fasteners near the fuel tank do not create the possibility of
fuel tank puncture or other damage during a collision.

Do not interfere with factory-installed safety equipment.

Representative Product Photos (your specific box may vary in style, size or finish)

S N SR X s o A
h PO GG O RS T
SEW R OROR RN R CRONON Y

NOTICE

Before you begin installation, read all instructions thoroughly.
Proper tools will improve the quality of installation and reduce the time required.

To help prevent damage to the product or vehicle, refer to the torque
specifications when securing hardware during the installation process.
Do not use this product for purposes other than those

for which they were designed. Never modify this product.

Consult your dealer if you have any questions regarding
the installation, operation, use and limits of this product.

Treat or seal all fasteners and exposed metal in any
holes drilled in vehicle to prevent corrosion.

Product Registration and Warranty

CURT Group stands behind our products with industry-leading warranties.
Provide feedback and help us to improve our products by registering your purchase at:
warranty.curtgroup.com/surveys

CURT
(E GROUP



